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HIH : 20214E4 H29H (OK) S R TN S 7 — L (25m)

No. 17 &F 50m EHikE B A LL—RREE R 32.29

L 10FBLUT >

BfL. K 4 i B 2E KE B fE
1 \A HAE 7 0F Abd /NG 7/ 5 34.36 1058
2 EHEHERT BIEEE S C /b 7/ 2 34.72 10%%
3 &l B PUTSS /INB 8/ 8 34.80 107%
4 FEIL MEZR HASC AN T/ 37.26 10#%
5 H 5 &l S C /N5 5/ 5 39.97 6%
6 W ez 7V ANWEE S /NG 5/ 6 40. 44 65k
7 = HFTRIEK AR ! 5/ 4 41.33 TH%
8 ik A 77/ AMI N3 4/ 5 41.52 10i%
9 fn% iR HrEE /NG 5/ 1 42. 89 45%
10 £)11 #&Jh T VF AN N 4/ 4 43. 41 6%
11 KT Fwe oIS /INB 4/ 6 43. 68 43t
12 JIJH A8 TNF ANA /M4 4/ T 44.12 6F%
13 Kl BB +UZSS /N5 3/ 4 44. 53 3%
14 thEE WHE 7V A X H /N3 4/ 1 44. 56 8H%
15 7 #FE WA A HE /N5 3/ 7 44. 59 3%
16 JR O FAK TVF AN ETE N3 3/ 5 44. 88 8k
17 HEk =1 fwmh S C N4 4/ 3 45. 26 5%
18 HH  Z=3 TNF AN KSR NG 2/ 2 45.33 3%
19 Kiy A4 oty A2 HE /N3 3/ 6 46. 00 Tk
20 —HAEE T o LR /N5 3/ 2 47.57 1%
21 Gtk &1 B N3 2/ 3 48. 42 6%
22 WEE  IFK T vAWE /b 2/ 5 48. 66
23 KA FEM VAL ANV S 2/ 8 48. 77 3%
24 3FH BRHR v— b iE N 1/ 4 48. 83
25 RREEE BRVEEHS C /)M 2/ 1 50. 26 24%
26 14 iRl b =pmy7’ /N4 2/ 6 50. 43 25K
27 JRH  EE +UZSS 7IN2 1/ 7 51. 71 A%
28 ¥R &Y HASC /I 1/ 1 53.93 3k
29 JEL JIE, IES S /N3 1/ 8 54.83 2%

No. 17 &F 50m EHikE B A LL—RREE R 30.45

L1112 >

BfL. KK 4 i B 2E KE B fE
1 FEPE & A HASC NG 8/ 5 29.93 13

- Joc
2 T HHE HASC Hil 8/ 4 29.97 12%%
=Hr-Joc
3 m FjEA WEAL L) T /N6 8/ 1 33. 31 9k
4 MR EBE TVF A REE S 7/ 8 36.19 %
b Rk BRI 7 FXiH N6 6/ 4 36. 22 TH%
6 NEE M THASC /NG 7/ 6 36.93 7%
7T KR EA THHASC M1 6/ 5 37.06 6%
8 HH LEE 7 ASC /N6 7/ 7 37.42 Tk
9 B AEIR WEA{ L) 57" NG 6/ 1 38.85 65%
10 fn EiE R NG 5/ 1 40. 10 55k
11 AR 7z B— h NG 5/ 8 40. 57 A
12 {AT 8 B TVF AMNEE /N6 5/ 3 41.52 4%
13 A fufE +UZSS 1 3/ 1 42.74 2%
14 FHh &IE TVE AVWEE /e 3/ 8 42.85 3%
15 Bl 4B TV ANWEE S NS 3/ 3 44. 53 2
16 e mH5E TVF ANEE /N6 4/ 8 45.08
HA A 4H29H 13:43
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No.17 &F 50m %k & 84 L L—R R REESR 3045
L1 -128 >
B & £ Fr & FE KK B FH

17 Tk MLE THHAS C N5 4/ 2 45. 34 1%

18 Ak TNF AN KSE /N6 1/ 5 49.17

19 {8 RYZE 7 VF ANNER N 1/ 3 50. 61
No.17 & 50m #FHik=E BALL—RRE PNl 29.46
L 13- 14 >
B & £ T & FE KK B

1 Y BAE 7VF A 2 8/ 3 30.18 105k

2 M e 7 VF Ab N\ i3 7/ 3 34.12 Tk

3 AE AR 7NF AN H2 6/ 8 36. 89 5%

4 R B TV ANERE S 3 6/ 6 37. 45 4%

5 HJII mekn 7°U #SC H13 6/ 2 38.23 3tk

6 kr HA TNFANEE 2 6/ 7 40. 56 2%
No. 17 ZF 50m &k =T BALL—R R AR 28.73
L 15U E >
B K 44 T B FE KK B FH

1 7k E23 7V ANEE S &3 8/ 6 31.75 Sk

2 RINEBHE T AME &l 8/ 2 32. 51 7%

3 L TR Tr=mw I A &2 7/ 4 33.56 6%

4 5T SRk b =pEIUM =2 8/ 7 34.75 5%

5 ik B THHAASC 3 6/ 3 38.58 2k
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